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CS-08
December - Examination 2019
BA/BSC Pt.lll Examination
Programming in Java
Paper - CS-08
Time : 3 Hours ] [ Max. Marks :- 55

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: g we ux ‘o7, ‘¥ 3R ‘@ fiH wuel 7 Ao d g1 ud®
Gus & MGATTAR el & IR S|

Section - A T7x1=17
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 1 mark.

Qus - ‘37’
(rfer o7 IR 9e)
fder: vl meal & IR FRITI AT 3707 IR Bl TRATAR Tb 9Teg,
U a1 AT AfeeheH 30 ereal H IRHAHT DRI Idiep ue
1 3p & 2l

1) () Whatis JVM?
JVM &1 87
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(i) What is Type Casting?
ScT I8y gRad T g?

(i) What is AWT?
AWT &7 §?

(iv) What is Applet?

Tole T &7

(v) What is exception handling?

TR BefolT T g ?

(vi) What is Byte Code?
Byte Code & & ?

(vii) What is Object?
3ffectae a7 8?2

Section - B 4%x6=24
(Short Answer Questions)
Note: Answer any four questions. Each answer should not
exceed 200 words. Each question carries 6 marks.

Qus - §
(oTg ITRIT UeA)
fAder: gl IR Ul & IR SIVI MY U ITR Bl Afpey
200 orsgt # gRAfAT BT Ies U9 6 37hl ol gl

2) Explain any four AWT controls.
a1g W AR AWT dgled Targyl

3) What is inheritance? Explain all types of inheritances in JAVA.

ST T ¢ ? ST § 94l YR & gIgdieg Pl FHSU|
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Write the difference between Java Applets and Java
Applications.

STaT Toetesd 3R TCeAidhe & i 3R 9arsy|

Explain the difference between Method Overloading and
Method Overriding.
TS JMRANST R HYS ARSI P &4 AR TR

State difference between OOP and POP.
OOP 3R POP & o7 3R §d1gd |

What is thread? Explain the life cycle of a thread.

IS FIT 82 IS P ST Ih Pl JHSTV

Explain the terms Variable, Constant and Literal use in Java.

Star § IRvusd, divee 3R folered & SUAN gargd|
What are JAVA packages? Explain the different types of

packages in java.

ST Sobot T 82 AT § fAIf = YR & bl bl FHSISU|
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Section-C 2X12=24
(Long Answer Questions)
Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries
12 marks.

Qus - |
(e IR o)
fAder : el Q1 Ul & IR ARV 31T 3o TR B 31fErepad 500
gegt B gRAfT HITTI URdd T 12 3t P 2

10) Explain the Applet Life Cycle?
Teeic T ATSh H1Sdhe Pl f[IFaRyded qarsd|

11) Explain the operators in Java.
NIRRT LRI
12) Write a java program to draw human smiley face.

STaT B human smiley face 3N &= &1 M foRau|

13) What is a copy constructor? Explain with the example.
Pt Hrecdex AT g2 IQIERUN & 1T AHSTSU
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